Bachelor of Arts Examination Part III: October/November 2014
(Annual Pattern) (Repeater) 
	Day & Date
	Paper No.
	Subject Name
	Time
	Code

	

Saturday
01/11/2014
	



P – V
	




D.C. Geography
	
02. 30 PM
 to
05. 30 PM
	
4507


Instructions:   	 Attempt any five questions from the following.
			 Use of map stencil is allowed.  
	
 	                                        	
 	                                                   


Q1. Define agricultural Geography? Nature and scope of agricultural Geography.          20                                         
Q2. Give detail account of shifting cultivation.                                                                   20
Q3. State important ocean routes in the world. Explain any two of them with suitable diagram.							                                                    20

Q4. Write a geographical account of production and distribution of Rice in the world.     20    

Q5. Critically examine Weber’s theory of Industrial location.                                            20

Q6. Give a geographical account of sugar industries in India.                                          20


Q7. Write notes on ANY TWO of the following.                                                            20                                                                                                                   
a) Tissue culture
b) Nature and scope of Industrial Geography
c) Cotton textile industries in India
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ç-ƒ Ñ"kh Hkwxksykph O;k[;k] Lo:i o O;kIrh Li"V djk-				    	     20                                               
ç-„ LFkykarfjr ’ksrhpk lfoLrj o`Rrkar |k-                                        20                  
ç-… tkxfrd egRRokps tyekxZ dks.krs\ R;kiSdh dks.kR;kgh nks?kkaph vkÑrhlg ekfgrh 
    fygk-                        						           20

ç-† txkrhy rkanwG mRiknukpk o forj.kkpk HkkSxksfyd o`Rrkar fygk-                  20
ç-‡ oscjP;k m|ksxkP;k LFkkfudhdj.kkP;k fln~/kkarkps fVdkRed ifj{k.k djk-            20

ç-ˆ Hkkjrkrhy lk[kj m|ksxkpk HkkSxksfyd o`Rrkar fygk-                              15 
                                                            
ç-‰ dks.kR;kgh nksgksaoj fVik fygk-                                               15
v½ mrh lao/kZu
c½ vkS|ksfxd Hkwxksykph O;kIrh o Lo:i
d½ Hkkjrkrhy lwrh oL= m|ksx


 
     
